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Same difference! 

You need Lego, Duplo or other small bricks. You need 12 bricks each. 
Also, paper and pens each.    

What to do 

o Find someone to work with.

o Build a tower each.

o Lay the two towers next to each other.

o Find the difference between the two.

o How many different pairs of towers

with a difference of 3 can you make?

o Keep going until you are sure you have

made all those possible using no

more than 12 bricks in any one tower.

Extra Challenge! 

o How many pairs of towers with a difference of 2 do you think you will be able to

make?  Will it be fewer or more than the number you made with a difference of

3?

o How many pairs of towers with a difference of 4? Predict first.

Difference of 3 

You are looking for two towers with a difference of 3 bricks. 

Try a tower of 4 and a tower of 7 to get you going. 

Answers 
9 towers with a difference of 3 
10 towers with a difference of 2 
8 towers with a difference of 4 
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Towering Differences 

Instructions 

You need: Lego, Duplo or other small bricks, paper and pens. 

What to do 

o Take 12 bricks each.

o Find a person to work with.

o Each choose a number of bricks between 0 and 12 and make a tower.

o How many bricks in the shorter tower?

o How many bricks in the taller tower?

o Both write a number sentence like this one.

6 +   = 8 

o Put your towers together.

o How much taller is the taller tower?

o How much shorter is the shorter tower?

o Decide together what number should be

written in the empty box.

6 +       = 8 

o Both write the difference in the empty box to complete your own

number sentence.

o Now start again and build another tower each.  Work out the difference

in heights and write a matching number sentence.

o Repeat this until you have written at least seven sentences!
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Difference Collection 

You need: 
o Lego, Duplo or other small bricks.
o A 1-6 dice and ten counters each.  (These

can be dry pasta or shells or even raisins!)
o Pens and paper each.

How to play 

o Each of you has 6 bricks and a pen and paper.

o Each of you throws the dice and takes that number of cubes.

o Each build a tower. Count the bricks.
Whose tower is taller?

o Lay the towers next to each other and
look at the difference.

o The person with the taller tower will
score these points!

o They write the matching number
sentence with a missing number box.

o Check the sentence and write the missing
number to complete it.

o They score the number in the box.
E.g. Mum scored 1.  Esme then scored 3.

o Each time, take counters to match the score.

o Play again, throwing the dice and making towers. The person with the taller
tower writes the sentence and collects the points and the counters.

o The first person to collect 10 counters is the winner.
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What a Puzzle! 

You will need nine coins 
three 1p coins, 
three 2p coins, 
three 5p coins 

What to do: 
o Place a coin in each space on the grid below.

o Try different ways of arranging the coins.

You are trying to get the coins in each row to add up to the same amount.

You are also trying to make sure that the coins in each column to add up
to the same amount.

o When you have succeeded, do the coins in the diagonals also add to that
amount?

Remember! 

1p is just 1p!  
Two 1ps are the same as a 2p 
Five 1ps are the same as a 5p 

© Hamilton Trust Explore more Hamilton Trust Learning Materials at https://wrht.org.uk/hamilton 




